

Quote Detail

 DetectaChem, Inc.
 Quote #: QU002683

 120 Industrial Blvd.
 Date: 6/1/2021

 Sugar Land TX 77478
 Expires: 1/31/2022

 Sugar Land TX 77478
 Expires: 1/31/2022

 (855) 573-3537
 Sales Rep: EMP49 Melissa Kusske

 United States
 United States

Terms Net 30 Requested By:

Bill To: Ship To: Lead Time: 4-6 weeks

Duluth Fire Department
Duluth Chemical Assessment
602 West 2nd Street
Duluth MN 55802
(612) 619-8964
United States

Duluth Fire Department
Duluth Chemical Assessment
602 West 2nd Street
Duluth MN 55802
(612) 619-8964
United States

Source

Memo:

(855) 573-3537

Shipping and Handling is not included, pending detection card quantity ordered.

Domestic Wire Instructions

ABA Routing #: 113011258
Receiving Bank: Amegy Bank
Receiving Address: 1717 West Loop South, Houston Texas, 77027
Beneficiary Name: DetectaChem Inc.
120 Industrial Blvd., Sugar Land, TX 77478
Beneficiary Account #: 5794216910

International Wire Instructions

ABA Routing #: 113011258
SWIFT Code: ZFNBUS55
Receiving Bank: Amegy Bank
Receiving Address: 1717 West Loop South, Houston, TX 77027
Beneficiary Name: DetectaChem Inc.
120 Industrial Blvd., Sugar Land, TX 77478
Beneficiary Account #: 5794216910

Item	Description	Un	Ord Qty	Rate	Amount
SEEKERe-MDK	Multi Detection Kit - SEEKERe Colorimteric Device, Ruggedized Case & Accessories	EA	10	14,950.00	149,500.00
DISCOUNT	Multi-unit discount	EA	10	-1,495.00	-14,950.00
Subtotal					134,550.00
ACC-DC-EXP	Detection Card - General Explosives (EXP)	EA	100	0.99	99.00
ACC-DC-OPI	Detection Card - Gen Screen/Opiates (OPI)	EA	100	0.99	99.00
Subtotal					198.00
Shipping & Handling	Shipping & Handling	EA	1	200.00	200.00



Quote Detail

DetectaChem, Inc. 120 Industrial Blvd. Sugar Land TX 77478 (855) 573-3537 United States (855) 573-3537 **Quote #**: QUO02683 **Date**: 6/1/2021

Item	Description	Un	Ord Qty	Rate	Amount

Quote is valid for quantities stated or greater, and all line items listed. Any removal of line items or reduction in quantity will require a revised quote. Price given is in \$USD; shipping not included in total unless noted. Explosive detection products manufactured by DetectaChem are export controlled under EAR 1A004.D which regulates the export of trace explosive detection technology. Any re-export without a license from BIS is in strict violation of US law and the policy of DetectaChem. For guidelines visit: http://www.bis.doc.gov/



First Line Technology 487 Lendall Lane Fredericksburg, VA 22405

Bill To

Rob Morehouse

Duluth FD - Hazmat 602 West 2nd Street

Duluth MN 55802

United States

(218) 310-3966

Quote

#QUO-38

Total: \$43,775.32

FEIN: 20-0247713 **DUNS**:141880034 CAGE CODE: 3PGJ2

Ship To

Rob Morehouse Duluth Fire Dept. - Hazmat 602 West 2nd St. Duluth MN 55802 United States (218) 310-3966

Quote Date	Expires	Requested Ship	FOB	Sales Rep	Terms	Shipping Method
10/27/2021	1/31/2022	10/27/2021		EMP-8 Alan Lee	Prepayment	FedEx Ground

Item ID / Description	Qty.	Unit Price	Line Subtotal
FLT-EDS-CASE-S SOFT CASE - Black Hole Duffel - Domestic - 32x16x16	6	\$205.00	\$1,230.00
FBT-PAD-48x48-WO-SN FiberTect Pad, 48x48, Active Poly, without snaps. (FBT-PAD-Active Poly-48x48-WO-SN)	36	\$160.00	\$5,760.00
FBT-PRF-12X12-20 FiberTect Active Poly Perforated Roll - (12" x 12" Wipes); 20 Wipes	11	\$399.00	\$4,389.00
FLT-EDS-SHEAR EMT Shears 7.25" - Tactical - Black	23	\$25.00	\$575.00
FLT-EDS-CLM-S 9' EDS Cold Line Marker (GREEN) with 2 Gypsy Snaps, Loops For Chemlights, Roll Back	10	\$35.00	\$350.00
FLT-EDS-HLM-S 9' EDS Hot Line Marker (RED) with 2 Gypsy Snaps, Loops For Chemlights, Roll Back	10	\$35.00	\$350.00
RSD-F5402E 21mL RSDL Active Lotion; (case of 60)	1	\$2,463.82	\$2,463.82
DD-006-10-RTU Dahlgren Decon (DD) - 200 ml (6 oz) - (Case of 10)	3	\$475.00	\$1,425.00
DD-006-RTU Dahlgren Decon (DD) - 200 ml - Ready To Use	3	\$47.50	\$142.50
MN-SCUT-501 S-CUT 501 (with extra blade and hygienic cover)	24	\$360.00	\$8,640.00
SHIPPING Shipping & Handling	1	\$950.00	\$950.00
DT-MG200 Electrostatic Victory Sprayer w/ Battery, Charger & Nozzle Wrench	14	\$1,250.00	\$17,500.00



Quote

#QUO-38

Total: \$43,775.32

Comments

MN Hazmat

Subtotal \$43,775.32

Discount

Tax Total (%) \$0.00

> **Total** \$43,775.32

Please visit www.firstlinetech.com/salesTC to read terms and conditions.